Dual VGA Vertical Support BLACK (Aluminum)
Z#:RBAZE / Installation Guide / Z3i5%EH
v EIGIEEAER/Single slot application/RiGE1EN REF

Bitspower®

= A
@ A “/j () BPTA-VGDSAL-BK-A 118
@ BPTA-VGDSAL-BK-B 11
S j @ M3x10 Z:Ki24 5%
1 @ BPTA-VGDSAL-BK-C 1 1
© G FHiEL 2%
o ] 3 ® M3 x 6 =i 2%
. @) PCI-E% 11&
© e ° — #a 2
fom— | o

(1) BPTA-VGDSAL-BK-A 1 PCS
(2 BPTA-VGDSAL-BK-B 1 PCS
(3@ M3x10 mm Screw 5 PCS
(@ BPTA-VGDSAL-BK-C 1 PCS
(® Thumb Screw 2 PCS
(® M3x6 mm Screw 2 PCS
@ PCI-E 1PCS
Washer 2 PCS
(1) BPTA-VGDSAL-BK-A 1t
(2 BPTA-VGDSAL-BK-B 1
(3® M3x10 =Kig2z 5%
(@) BPTA-VGDSAL-BK-C 14
B FiRz 2=
® M3 x6=XKigz 2%
@ PCI-E% 1%
B 24

PCl Express

BPTA-VGDSAL-BK EZmABYELE " BotrasfA |
See "Accessories s for a list of included parts with the BPTA-VGDSAL-BK
BPTA-VGDSAL-BK = mABMiES = " BotrikhA |

AR - BKAD - AEERASHELRREERNUE L - EAREW  BRARNERT - ET240 SO0 - ERERKELEBHRIE BT RKMENEHIBMHRIIEER -

Before filling in the water, please make sure all the components are installed correctly. To prevent any leakage which may damage the PC components, please perform a 24-hour leaking test
with only the pump connected to the power supply .

AR BKAD - BRWATESH L EEERNUE L - EAFEN - SFKRNERT - @ T24NN808KNE - BRTEXKEZEEFEN - BRRERKNSHEBMEBHAIRAL -
RRTRBHEMNRTEXURBENED AR RASTEN - ERECHEHLUEYRE -
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.
RRATREXN MR E R BENOND - WBENRASTEN - FREeSEHUSEINE -

V2/58 ik



Dual VGA Vertical Support BLACK (Aluminum)
Z#:RBAZE / Installation Guide / Z3i5EH
Y EiHERERER/Dual slot application/XUGE & RN 2 F

Bitspower’

= A
@ A “/j () BPTA-VGDSAL-BK-A 118
@ BPTA-VGDSAL-BK-B 11
S j @ M3x 10 Z:Ki244 5%
1 @ BPTA-VGDSAL-BK-C 1 1
© G FHEiEL 4%
o ] 3 ® M3 x 6 =kins 2%
. @ PCI-E% 11&
© e ° — #a 2
fum— | o

6

(1) BPTA-VGDSAL-BK-A 1 PCS

PRHAIUSM / Limited outside the case / FRHLZEINSN ey e
(@ BPTA-VGDSAL-BK-C 1 PCS

(® Thumb Screw 4 PCS

6 (&) M3x6 mm Screw 2 PCS
@ PCI-E 1PCS

Washer 2 PCS

(1) BPTA-VGDSAL-BK-A 1t

(2 BPTA-VGDSAL-BK-B 1

(3® M3x10 EXKigz 5%

(@) BPTA-VGDSAL-BK-C 14

B FiRz 43

® M3 x6=XKigz 2%

@ PCI-E% 1%

B 24

A E4#E / Not included / A 81&

PCl Express

AR E3#E / Notincluded / F&¥E

BPTA-VGDSAL-BK EZmABYELE " BotrasfA |
See "Accessories s for a list of included parts with the BPTA-VGDSAL-BK
BPTA-VGDSAL-BK = mABMiES = " BotrikhA |

A€ / Not included / R 811&

AR - BKAD - AEERASHELRREERNUE L - EAREW  BRARNERT - ET240 SO0 - ERERKELEBHRIE BT RKMENEHIBMHRIIEER -

Before filling in the water, please make sure all the components are installed correctly. To prevent any leakage which may damage the PC components, please perform a 24-hour leaking test
with only the pump connected to the power supply .

AR BKAD - BRWATESH L EEERNUE L - EAFEN - SFKRNERT - @ T24NN808KNE - BRTEXKEZEEFEN - BRRERKNSHEBMEBHAIRAL -
RRTRBHEMNRTEXURBENED AR RASTEN - ERECHEHLUEYRE -
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.
RRATREXN MR E R BENOND - WBENRASTEN - FREeSEHUSEINE -

V2/58 Rk



